Circles Work – Subtraction Fluency Questions
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Subfract More than 4 Digits

Subtract More than 4 Digits

1a. Calculate the missing answer.

T 0
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1b. Calculate the missing answer.
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2. True or false?
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3a. Use <, > or = symbols fo complete the.
sublraction.

TTh Th H
.

3b. Use <, > or = symbols fo complete the
subfraction.
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e

25112

67,582 - 42,471
¢

23,642

45,894 - 22,252
A

4a. Circle the comect answer for the.
sublraction.
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4b. Circle the correct answer for the
subfraction.

A.13212

¢

B.13,124 C.13122

A.11,424

D

B.11,414 C.11434
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Subtract More than 4 Digits

Subtract More than 4 Digits

1a. Find the missing counters and digits in
the subfraction.

1b. Find the missing counters and digits in
the subfraction.
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2. Use the counter and digit cards fo
complete the subtraction.

2b. Place the missing counters and digits
to complete the calculation below.
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3a. Alf has used column method fo
complete the subtraction below.
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3b. Tia has used column method fo
complete the subfraction below.

TTh Th H
o e ® oo o
° o ° o0 o
.
- e .

2 3 3 1 3

2 8 7 2 ¢

Is he correct? Explain why.

Is she comect? Explain why.
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Developing
10.11.413

2a. False. The correct answer is 24,231

3a. The answer is 25,111, 50 67,582 -
42,471 <2512,
4a.C.13,122

Developing
1b. 13,322

2b. False. The correct answer is 15,342
3b. The answer is 23,642, 50 45,894 -
22,252 = 23,642

4b.B. 11,414
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Developing
10.38,927 - 14,314 = 24613

20.44236 12121 =32.115

3a. Alfis incorrect. He has sublracted the
thousands columns incorrectly. The
correct answer should be 24,313.

Developing
1b. 36,459 - 14,342 = 22,117
2b.24,356 - 11,242 = 13114

3b. TiaIs incorrect. She has added the
hundreds and thousands columns instead
of sublracting. She has also subiracted the.
ten thousands column incorrectly. The
correct answer should be 34,126.
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